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(1) All questions should be attempted.

(ii)  Question Nos. 1, 2, 3 and 14 should be answered in the medium of
instruction of the candidate.

(iii) The remaining questions should be answered in Sanskrit (Devanagari

~ Secript) only. -

(iv)  The bits in a question should be attempted togather.

(i) &3 T FEYEEAT: |

(ii-iii) waw, fidfta, getausaH  Oqdwues  (FERuE) ¥ fwm &= ue
TSI (JTATRICAT) HHTETAeAT.

(iv)  SgeTs e =i Usad SHar: |

W& vl Qe 96 foaad |

(37) SETHIIE WH...... JESE ||
(31 ﬁ’ﬁf‘fﬁﬁ T 1)

(3 ‘WRataqfe:’ M €1 A@HIE; |
(3 siFo-FaeE: Har ST |

T Heamy aa |
(37) . EuT fyrerrst Y et 2
(3M) WaETE 9| Joae |

RuTt SeA FHE feae |

(30 EI: I feberiar 2

(3) T TG FROTAR feheerrarc 2

3 mﬁwﬁﬁaﬁaﬁmﬁmﬁ&ﬂ?
(%) eiterad %Y HfEET A 2

(3) HAEYS: Tevuw 6 Aleaeer ?

(F) Y™l AH #: 2
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IxX6=06

I1x6=6

IxX6=06

4x2=8

P.T.O.



5. gt wat smEr fied | . 2x3=6
(37) IR TR 79 Hf |
(3M) ud q8d %l N Gt B e ggesh |
(3) o9 W T WiRY: |
@ TIERETEE Head W5 oI |

6. At g AR o | 2x3=6
(3 weefE gaag |
(3M) ST STTierTod Pl HH AR |
(3) 7T SR T e |
(%) wSHl 9T gt a1 99 InEmEr FAE: |

7. FETOT WEAET QEMET fora | 3Ix2=6
(30) el |1 FE G & 39 a9 0
(1) HET: S =WymT Saf 2
() siFem Fa: fF e 2
& IR Y geEhT 2
(3) HegoHAT DI ?
(F) e 29 Reaw 7 o8 2

8.  =aTUT WAl TN forae | 3x2=6
(30) WY P T2 '
() =t fersar a2
® Iy A A femag 2
&) e Frete i Faar 2
() feferan fmmed weiene Swafa 2
() mrﬁaw:ﬁmﬁhﬁ{ﬁﬁaaaﬁ?

9. ferrmreumg snzeluam fora | 1x5=5

HAqr
e 7 ferd |
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. 10.

11.

12.

13.

14.

gat vt ara-ferg-fafem-aemfdergdes amgofean fem |

(a0 TR (3m) =R

® & B

g4t urgEar foa |

(3 f (3) e

(3 viesf @ adam
sitfor afvamtRergEs fageaa |

(M T @ T
(M) arodeH (F) T

® = @F dw
stfor SFeAmRTgES T |

(3 TH+TH @ 7+ T
(M |+ 3T (I U+ IT*H
() T« +F: (&) fanm+ e

AT | (33 3ATGTINETH)
(37) . TS: TR A |
(M) wne Wi et w2
(%) U o faefa |

@H " Ex |

(3) A 99 THEAH ?
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2xX6=12

2x3=06

Ix2=6

Ix2=6

5%1=5

«fHE.T.On Y



15. WA A TANM g | 5x1=5
(3) A wraifer faef=t 2
(3m) Tfee sy &1 wafd ?
® eawE fad & 7
(%) et SoE: A IgEir?
(3) uvEan & v 7 fasfed 2
i
16. Wb 9T GHMM S | §x1=5
(3 wisf: e i TR Tt % 2
(3m)  fepw arpeea 2
() TEE: F WA FHaar ?
@) e et @t 2
@) T o farayaadt 2

3 0109/TS (Day-1) " q40f4]



	Jr-Inter-Sanskrit-Paper-1-TS-March-2017-Page-1
	Jr-Inter-Sanskrit-Paper-1-TS-March-2017-Page-2
	Jr-Inter-Sanskrit-Paper-1-TS-March-2017-Page-3
	Jr-Inter-Sanskrit-Paper-1-TS-March-2017-Page-4



